Maths - Ari

thmetic

i [or2s— O | 19 [433xw00=] ] @)
2 [8x10= O | 20 [13+507=____| QO
3 [ J=Lteisd O | 21 |$ofa0=[ ] O
4 [539:7= | O | 22 [425:10= ] @)
5 (39 x33 = O | 23 |0*=__ | O
6 [14+1=[ | )| 24 [20x80=] ] O
7 (805458=[ | () | 25 |3000=50=] | O
8 (4-2-[ | O | 26 |#=[__] O
9 |Px20=[ | O | 27 |gx2=__ ] O
10 [[ ]x8=15888 ()| 28 |200%2= O
1 [10x5620 = | () | 29 |6300: 90 = O
12 |49+01=[ | O30 |17+5=___ ] 9]
13 [70000 — 700 =[ | O | 31 |[ax7x5=[ | QO
14 (77952 47383 = | Ol 382 3-%= | )
15 [8x6=] | (| 33 |186+61=] | D
16 (1386877 = | O |3 |t=5=_ 1 @
17 |514-90=[ | O | 35 |[+of[ =5 O
18 667 x35=[ | O | 36 |+5=[___ % O




Maths - Arithmetic - Slmpllfled

1 882 + 100 = O | 14 [9x9= O
2 596 — 100 = (O | 15 [8x5x2= C
3 =133+ 80 (O | 16 |413x 3= O
4 (779 — 400 = ()| 17 (885 x 8= )
5 |66 x 6= O |18 |¢+8= C
6 |100=5= Ol 19 [2-1= O
T |[e+s= (| 20 |6.19+0.01= O
g |[1-2- O | 21 [s9+07= O
9 |7725 « 1000 = O | 22 [s7+10= C
10 6457 — 1000 = O | 23 [56 =100 = O
11 |5834 + 227 = O | 24 [Lor16= O
12 4354 — 988 — O | 25 [2.9+256 = C
13 [0 x 403 = O | 26 [5.8+7.38= O




